RO

K K x &
7
1+2% 14:55
3~6F 15:45
4 7] )] y 4 &
2L P v 7 = Py v A H 8&*&2&*‘?%‘
ZER5E) EROREFER EROMIFER e A=
1~4% 14:55
R 14:55 R 14:55 R 14:55 R 14:55
5.6% 15:45
17 12 13 14 15
EROREFER EROREFHR EROREEHR EROMITHR
R 14:55 R 14:55 R 14:55 R 14:55 R 14:55
18 19 20 271 27
i i BRIET
BRIBRS BRI e BRIBHE ~
R AREER SRARFER S 2R3 RBOn R
R 13:05 R 13:05 R 13:05 R 11:30 R 11:30
25 20 27 78 29
LFAX 1AHA)ET
R (R e 358 1A9BE M)A >
O TR
SEREAATR 14:55 6BBAZLATH 1545

ORZELTVARRAT L2 TRIFR I YHIET.
OFF I, AR, B BUNTAY0hNET 0%, SRABLIE,




